



إستراتيجية حل المسألة
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             2 + 7 = 9                                          9 – 1 = 8                              3 × 7 + 1 = 21 + 1 = 22
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        5 × 5 – 4 = 25 – 4 = 21                    7 – 2 = 5                                1 + 5 = 6
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     11 × 7 – 7 = 77 – 7 = 70                 6 + 3 × 1 = 6 + 3 = 9           4 × 5 – 10 × 2 = 20 – 20 = 0
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       3 × 21 = 3 × 1 = 3                            2 × 27 = 2 × 49 = 98             25 + 8 = 25 + 8 = 33
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        EQ \F(2;2)  = 1                                                   EQ \F(30;5)  = 6  
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 4.1 + 5.7 – 0.3 = 9.5                                 10 – ( 4.1 + 5.7 ) = 0.2         5.7 – 0.3 + 2 = 7.4
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وزن الجسم على سطح القمر =  EQ \F(و;6)  =  EQ \F(178.2;6)  = 29.7 كلجم
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	16 × 2 = 32
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	16 × 3 = 48
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	16 × 4 = 64

	5
	16 × 5 = 80
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